%ﬂﬁ?ﬁ?ﬁ‘ﬁﬁﬁ H29 - 395 THR29%128 26

(RFHIRF FR294E12A19R ~ FR29412H25H) BRI ERRS

B
EWNX, #R BB CEERE R THEBL Q5.
VU E O BT E L, BB TIE30~A L (RTHEVS~ANVEER) fHEICH> TIRCRER . EBFIFHT
1$50=A/V (RiEVS~ANVBER) (I H o TI2DBERE L TV,
REAKIRIL, BERERIL22TCTH, TEBHRERIZLI7T~19CHETIHRVED | THBL TV,
B BROREHKIRIL, 135 (REIBM) 1X22. 0°C. 125 (E&i) 1318. 3°C. 105 (EF ) ik
18. 7CThoT-

P

PN (LA, 28080 ¢ BFIREL O Z88IE, ERF~1ETF b T (1 H1£472928ke) ,
HEMBERIINTNHAREGT 2L, RIBIRED OSBRI, LEEAK~1238T <938, 5h (F70ke)
NIV F0. SR DKBT,

AR (L) . TEBOLESNT, FHE~35ETNLALTL L, 8 ([A50ke) . H34H0. 3k, v AT
0. 2k AT,

VA 7o (AR, £, TR) - EFREIORERIT, BiE~9E LY 40. 4h (F34ke) . BV
0. 1bDAKRET, IEEFRITAZF 2L, HEBRDORMEIRIL, FHE~468 Y40, 7R (F16ke) , BV
Z 0, 2a70. 2hv (R 7ke) DABT, EE~43E Y F1.20 (F29ke) . BV 235 (Fl1ke) . I
U 3h (Flokg) D/ABIT, EEBIREDDOR@HIX, TEBK~48F 1 V40. 9h (F20ke) . B> #0. 5k
> (F110keg) , 32U 3% (F0kg) AT, W FESHVIX, FE~6%E1V40. 2h (F26ke) . EV#0. 1h
VDK, PEIIAKBT 2L, AL~15%HV45. 9h ([F388ke) . B L%0. 3k DABIT, £ ~13
£V 4+3.70 (F1284kg) . EZ0. 4by, aaUb 00Kk, EFEK~228HY43. 9h (F179
kg) . %0, ShDKBT, <7 BIERRRITFHA~AEX NS (FNF) 6K, FNF (VE) A, ARF (AN
FILLA, ARNF(F V<)63%, b R3624, BPX AR D KBTS,

VIAN (R FHE) . HEBOVIARIL. DL E~137#33.88 (1 H 182 720246ke) DAKBBIT, F
ERDFREF~2087. 1M ([F1356ke) . il ~49%543.1 1 (FI880ke) , PFHERD HEFH~21810.5~ (&
504kg) DAKBT,

REEEM © ERETERH (SHAER) ORIBERIX17.5M, AENTIX, TV (TUK) 11K, 7)Y (AP
) 464, =70, 1h B3], 2R AT T6.200, UIVALTL0.8b AV H2.3h BTV TE (R
<) 2.18, VAT L. 2RO KT, 1B EERB(2HEEER) ORI EEIX15. 9b, RFERITIX. 7V
(ZV#R) 144, 7V (AP afR) 9TAR, =74, 6b, H/NH0. 8h RIVALH2. BR AT VL. 3h Y
UF (Z<)1. 1N/ DKBT,

XM . EEBEDERO PR SEEROKIEERIX305334. 68 (1B 1#EYV11.28), ARERIT
1%, = AT P21, 7Thv, FEFI5. 5h, =7 10.0b, $NEH36.18, =AU 22.3h, UAALTY
234.3h D KEBT,

T8
L
BT, REBIRHIITO0MER | BRI TRV EER | THBLZES,
FKEARIL, TEBRBBILTORED | 25 2RV ED | THRBL 29,
CFEE: HAEBRFIR19CHER F)

[ RiE#H]

=HER(12H158~21 H) Tid, EX/T1, 431. 3F/ (=AU 685. Th U ALTL267. 4hv, H N8
76. 5, =T 24, 3hAh) . EEMETI. 4b (FV(FV#K) 554, TV (UF9#k) 794, TV (A FF#%) 188
A, =73, 3 B NEHO. Thy, ZAIVALHO. 6hAh) DKBIT BSdH-72,

FIFILE (12H8H~14H) TiX, =2/ TL7. Oh/ (P13, 6h, =/ 7V3. ShiAth) . B#ET10. 2k
Y (BUA8. 5hv B L. 6hAh) | Ry FRETITR10. Obr DKRBT 3D -T2,

HIFFER (125148 ~208) Tk, X T861. 4hv (w7162, 3br, ¥ H9. 4bhv, FEFT2. 6F
) . RoFHETITR2. 8hDOKBIT BHoT2,



i 1 o RS [ T T T A
p 132;5&:?%‘? o 134° 2/ V135 (%?g }kiig
: S — : (1251 19H ~12/ 25
\ B R AR
ML EH No.76  12./24~25 17/_\ Elo|E
S A A g £ | ®
HEHR— A ¥ 18 2| = | @
0.1 a
18.9
{158 )
— [
| =
e
0.5 P
|1z *
1 S
0.2 m
140 B
i #
03 14.3 )ﬁ
15 el
0.4 =
(167 B
"] ]
10 |,o,] ®
1K #
0.1
i 183 fi;
=
23|08 o
B Ry ELL 187| &
B MR B R MR % | 1% ©
| | |
25 45 6512 22 |01 220 s
L o BERE PR R | o (220
n n =




REERIGRES ENED 29128198 ~ TFR29%F12825H
o o~ b W ) BER (L) LKIBEH(TR) 1B1& p2X i 5 &
(X F) 12/19 | 12/20 | 12/21 | 12/22 | 12/23 | 12/24 | 12/25 | Bt BES (B%0) |[(aik, BER)
A 348 R — — — — — — - — -
G 0& 0
H N i 8 I=Falt — 00| -— — — — — 00 +v 28|VHNELY (R Y
E47E) (E F) 1 1€ ¥0| 543 ~ 543
VAN E4ER] =g — — — — — — — — — TN EY (e —
(hOtEsR) 08 0 ~
¥ N 348 g 0.6 22 1.8 17 — 22 — 85 b 10|13 IHNFEYy  |RHN — v
G& ) 21 27 24 26 25 123 & ¥0| 259 ~ 480 ||whvt 0.5 by
LA | HHE g 0.1 0.2 0.0 03[ — 12 — 18 by 50 vy 0.3 by
(F 1&) 6 9 2 7 11 35 & 0 2417y 0.2 tv
hvA L= SR 0.1 0.1 0.0 01| — o1 — 0.4 tv 34 ] 0.1ty
G 1 2 2 2 2 9 & 0 ERD) — v
hoF BB =yl — — — — — - - — - NUAEY [ — b
(htEsR) 08 *0 ~ ERD) —
HhvFt BB g 0.0 0.1 0.0 o1 — 05 — 0.7 bv 16 ] 0.0 tv
(F 1&) 9 9 5 8 15 46 £ 0 ERD) 02 v
HhvFt BB SHE 0.0 0.3 0.2 05 — 02 — 12 by 29(hvAFLy  [Evs 0.0 tv
(tk &) 1 7 12 17 6 43 £ 40| 841 ~ 1346|337 0.0 v
HhvFt BB BHE 0.1 0.2 0.0 04 — 02 — 0.9 by 20(hvAFy  evs 05 by
G& K) 9 12 1 18 8 48 £ *¥0[1153 ~ 1404|337 0.0 tv
HvA =8 EHR o1f — 00| — — o1 — 0.2 by 26 ] 0.1ty
GREM) (R &) 2 2 2 6 £ 0 ERD) —
hvA =8 EHE — — — — — — — — b — ] - b
(REMm) (F &) 0% 0 ERD) — b
A £ A 3L 1.0 0.8 0.8 1.2 1.1 0.4 0.6 59 kv 388|HVYAEY  |EVE 03 v
GREM) 2 1 2 2 4 2 2 15 € *0[1236 ~ 1627|337 — b
hvt =8 g 04 07 14| 06| — 0.6 0.0 3.7 by 284|HVAFEY  |EVE 0.4 tv
GREM) (k&) 4 1 4 2 1 1 13 € ¥0/1188 ~ 1464|337 0.0 by
hvA =8 BHE 0.2 0.7 1.1 07 — 1.0 0.2 39 b 179|hVAFy  ||E'V4 0.3 v
GREM) (& K) 4 4 2 5 5 2 2 £ ¥0[1314 ~ 1620|337 —
hvA =8 R — — — — — — — — b - 2] -t
(KREHR) (k&) 08 *n ~ Emb) —
hvA =8 BHE — — — — — — — — b - s —
(K& ) (& K) 08 %0 ~ Embj — b
Evs B i R — 0.0 0.0 0o — 0o — 0.0 tv 1 hyt 12 by
(k&) 7 12 17 6 42 % ¥R 337 0.0 by
Evs L= R 0.1 0.1 0.0 o1 — 02 — 05 by 10 hyt 09 v
G& K) 9 12 1 18 8 48 £ ¥ ERp) 0.0 by
337 B i R — — — — — — — — b - hy# 04ty
(B @) 08 0 [ 0.1 kv
337 B i R — — — — — — — — — EmlpR | hy# — b
(hn%E%R) 0% *n ~ ] — b
E=ly) BB SR 0.0 0.0 0.0 0of — 02 — 0.2 tv 7 hyA 0.7 bv
(¢ 1&) 9 9 5 8 15 46 £ 0 t'v4 0.0 tv
E=ly) BB SR — — 0o — — — — 0.0 tv 0 hyA 12 by
(k &) 12 17 6 35 & 0 t'v4 0.0 tv
337 B i AR 0.0 0of — — — — — 00 by 0 hy# 09 tv
- 9) 9 12 21 & 0 [ 05 by
ASH BB R — — — — — — — — -
(F/miT) 08 0 ~
ASH BB AR — — — — — — — — -
GF K) 08 *n ~

FD 2%




REBEAEE (x02) EETHHAM FER29F12H198  ~  FRL29%128258
78 ik B REE (L) EKBEHR(TE) 1H1E fafi " &
(X ) 12719 | 12720 | 12721 | 12722 | 12/23 | 12724 | 12/25 | BEt REE (A%0)  |[(&dk, BEA)
US5R | RuF@ 7 x5 48| 54 5.1 65 67| — 53 338ty 246
24 24 24 22 22 21| 137 # 0| 526 ~ 722
US5R | RuF@ ZEHT 05/ 20| 14| 16| 04 -— 1.2 7.1 by 356
3 3 3 3 3 5 20 # 0| 719 ~ 784
US5R | RuF@ E | 49| 48] -— 106| 125| — 10.3| 431 by 880
10 10 10 9 10 49 # *0[ 600 ~ 900
52 | RuFE =HE — 2.1 2.1 28] 35| — — 105 bv 504
(H%#) 6 5 5 5 21 ## 0| 141 ~ 338
P2 b F=EH =yl — — — — — — — — b —
(F ##) 08 0
P2 b F=EH =yl — — — — — — — - b —
£ &) 08 *n ~
AILA B & EHR — — — — — — — — b -
17 (hnE5HR) 0& 0 ~
AILA B # EHE — — — — — — — — b —
A4h G& XK) 0E *n ~
AL A ' & EHR — — — — — — — — b —
17 (B @) 0E 0
BEYD[ E 8 BHE gaeya| Fng | YE | ANF | AT | bk |V REE 4 £ [1&£41Y
AR E (B #) — 6 3 11 63| 362 4/ 449 K| 112 K
EEH X B e 7 A8 | 7Y | YNEE | 490 | A | hESF =1 £5HB% | TDM & L 11 K
B E | TES 3 KE 0.1 02| 0.1 12| 62| 08 — 175+ | 6 ARS 89 +v | Dk 46 &
EEH X B % % 7 A8 7Y | YNEE | 470 | A | hESF A&t £ A% | T 0t 5 L 14 X
B E | TES 2 K# 0.1 05| 46| 08| — — — 159 v | 6 AR 99 by | D#k 97 &
FEE kR FLEE TV | FEFT| Y7 | INER | 400 | A | hAF 30 # |14y | Tt F
B E | FE8 e 217 55 100| 36.1| 22.3| 2343 — 334.6 kv 11.2by 48 by

—1:8ELL.

r0.0by ] : a2 0kl £ 50kg R .

rony:1H1&€/RE=0kgll £05kgR i




